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[[:Livd SNELZ KING | PRINCE| QUEEN GRoss| HDCP| NET {@E= [[:Tiv s2nE4 KING | PRINCE| QUEEN GRoss| HDCP| NET 5= [[:Ljva anas4 KING | PRINCE| QUEEN GROss| HDCP| NET e
FEIE S S 45 46 91| 204 |70.6 51 |FEli=E EfE 49 53 102| 27.6 | 74.4 101 |JR¥A B 48| 57 105| 28.8|76.2
2 B8 =T 42 41 83| 12.0[71.0 52 | &R Z5 51 51 102| 27.6 |74.4 102 | 7Kl IF= 56/ 55 111] 34.8 [76.2
3 PR R 46 43 89| 18.0(71.0 53 |AfRH B 47| 42 89| 14.4 |74.6 103 | K& S8 49| 43 92| 15.6 |76.4
4 )l B8 41 40 81| 96/71.4 54 IX BR 53| 54 107| 324 |74.6 104 | PfE) et 42| 44 86| 9.6|76.4
5 1T BR 42| 44 86 14.4|71.6 55 |_EH FIi3 44| 39 83| 8.4(74.6 105 FH| &= 49 48 97| 20.4|76.6
6 Sif [l 46 46 92| 204 (71.6 56 |HF.E {EET 40 43 83| 8.4(74.6 106 FH HEH 49| 48 97| 20.4(76.6
7 5= FIE 46 46 92| 204 |71.6 57 |JI|H £ 48 47 95| 204 |74.6 107 #H &L 47| 44 91| 14.4 |76.6
8 |fh)l| Ha 41| 44 85| 13.2(71.8 58 IO & 43| 46 89| 14.4 |74.6 108 |)118F B 44| 47 91| 14.4 |76.6
9 RHE 39| 45 84| 12.0 [72.0 59 i ESB 45 50 95| 204 |74.6 109 {FF 88 45| 45 90| 13.2|76.8
10 B & 40| 44 84| 12.072.0 60 |fEK S— 54| 47 101 26.4 |74.6 110|[EH IE 45| 45 90| 13.2/76.8
11 {ERK F= 40 37 77| 48(72.2 61 |HH XiE 55| 52 107| 32.4 |74.6 111 | ZF FiE 45| 45 90| 13.2/76.8
12  5H SE 42| 40 82| 9.6/(72.4 62 |{Rik FE 45| 49 94| 19.2 [74.8 112 | /H EA 46| 50 96| 19.2]76.8
13 RIS 5k 35| 41 76| 3.6 |72.4|~"2J0& 63 ILO M= 48| 46 94| 19.2 |74.8 113|[ER F{E 44| 51 95| 18.0|77.0
14 (B3 2 46| 42 88| 15.6 |72.4 64 X 181 51| 55 106/ 31.2|74.8 114 | EEE B84 58 49 107| 30.0 |77.0
15 |[§ik ES 48| 45 93| 204 (72.6 65 |LLO E58 47 46 93| 18.0 [75.0 115 | 2H X— 45| 50 95| 18.0 |77.0
16 HE & 41 46 87| 14.4 |72.6 66 |I\BE BFE 43| 44 87| 12.0 |75.0 116 /MR & 58| 43 101| 24.0|77.0
17 |;n]BF {REPX 50| 49 99| 26.4(72.6 67 | AR 555) 50| 43 93| 18.0 |75.0 117 | KTF = 45 43 88| 10.8(77.2
18 Nk BE— 52| 41 93| 20.4(72.6 68 |LUAK &= 49| 50 99| 24.0|75.0 118 |#EE] eth 43 51 94| 16.8 (77.2
19 | X &k 50/ 49 99| 26.4[72.6 69 1EH &+ 47| 46 93| 18.0|75.0 119 55 Bl 46| 42 88| 10.8]77.2
20 | FA &&F 42 44 86| 13.2]72.8 70 Ei& B 55| 50 105/ 30.0 |75.0 120 |[/NF)I| ¥ 41 53 94| 16.8]77.2
21 | =F —th 44| 47 91| 18.0/73.0 71 |¥2H FNeA 49| 50 99| 24.0[75.0 121 3%H = 57| 43 100| 22.8[77.2
22 IR = 50| 47 97| 24.0/73.0 72 |n]$¥ ;BED 50| 55 105| 30.0 |75.0 122 | Kk AFEF 49 44 93| 156 |77.4
23 |FGiE Bk 49| 48 97| 24.0|73.0 73 )l &&a 43| 43 86| 10.8 [75.2 123|560 5— 52 47 99| 216 |77.4
24 K@ &= 44| 46 90| 16.8]73.2 74 | )lIYT % 53] 51 104| 28.8|75.2 124 1O =— 43 49 92| 14.4 |77.6
25 [tk B— 43| 41 84| 10.8 73.2 75 | B 5 44| 42 86| 10.8 |75.2 125 | &K =08 44| 48 92| 14.4 |77.6
26 |ZELll S5k 48 42 90| 16.8(73.2 76 HH BE 42 38 80| 4.8(75.2 126 | IRA R 54| 50 104| 26.4 |77.6
27 | HA A 49 47 96| 22.8(73.2 77 i8R EA 53 57 110| 34.8 |75.2 127 9@ BBF 55/ 49 104| 26.4 |77.6
28 |iXH BBF 50 46 96| 22.8 [73.2 78 IlLO B= 45| 46 91| 15.6 |75.4 128 | FH= BE 46| 45 91| 13.2]77.8
29 R &8 57| 51 108| 34.8(73.2 79 | KEHE 46| 51 97| 21.6 |75.4 129 HEO "= 42| 55 97| 19.2]77.8
30 |HFRF 8k 46| 49 o5| 21.6 |73.4 80 | Pk |BE— 54| 49 103] 27.6 |75.4 130 | =3 ;=5 50| 59 109| 31.2[77.8
31 &K EiR 48 46 94| 204 |73.6 81 |FH= E 40 39 79| 3.6|75.4 131 |[{A IEi& 47| 50 97| 19.2]77.8
32 H Fllk 49| 51 100| 26.4 |73.6 82 =i R{B 48 48 96| 20.4 |75.6 132 | A [T 41| 50 91| 13.2]77.8
33 |piE BME 40| 42 82| s84[73.6 83 |=H {5t 46| 44 90| 14.4 |75.6 133 |#2K EiR 49 48 97| 19.2]77.8
34 |RIF 38 50 49 99| 25.2|73.8 84 fh)l| 5= 46 44 90| 14.4|75.6 134 \Bp ) fiff 54 55 109| 31.2 |77.8
35 | =4 il 45| 42 87| 13.2|73.8 85 |HA8 B= 39| 39 78| 2.4]75.6 135 /X & 54| 54 108| 30.078.0
36 B 5 50| 49 99| 25.2(73.8 86 [ BH = 45| 45 90| 14.4 |75.6 136 {h#f = 45| 45 90| 12.0|78.0
37 &F FTA 45| 48 93| 19.2]73.8 87 |/\F FE—EB 51| 50 101| 25.2 |75.8 137 | Ff — 5§ 52| 50 102| 24.0 |78.0
38 | H L LS 43| 44 87| 13.2|73.8 88 | X3 & 51| 50 101] 25.2 [75.8 138 | — &= 5hIE 53| 48 101| 22.8[78.2
39 BHES #ath 41 40 81 7.2[73.8 89 Al & 43| 46 89| 13.2|75.8 139 |FH i&— 49 46 95| 16.8|78.2
40 L —= 52 46 98| 24.0 [74.0 90 FFith = 44 44 88| 12.0 |76.0 140 | LLA & 53 54 107| 28.8|78.2
41 |BI 8 56 42 98| 24.0 |74.0 o1 |LUAK fEZ 44| 44 88| 12.0 |76.0 141 |¥r{t Z=BA 57 56 113] 34.878.2
42 | KN &®ia 54 44 98| 24.0 [74.0 92 [lUE R 46| 48 94| 18.0 |76.0 142 %8 FE 51 50 101 22.8|78.2
43 Nk &=— 50/ 53 103| 28.8 [74.2 93 @ FIE 55| 51 106/ 30.0 |76.0 143 | KA £= 43 45 88| 9.6/78.4
44 |q)l| g 39 40 79| 4.8(74.2 94 /O =R 46| 48 94| 18.0|76.0 144 | $5K =T 53| 53 106| 27.6 |78.4
45 | KB —3g 50| 47 97| 22.8174.2 o5 | ¥EE S 46| 54 100| 24.0 |76.0 145 | B FEld 48| 51 99| 20.4 | 78.6
46 Wil ES 41 44 85| 10.8 [74.2 96 P B& 45/ 49 94| 18.0 [76.0 146 HZH B2 48 45 93| 14.4 |78.6
47 [I\i AR 46| 51 97| 22.8 |74.2 97 |#H 1t 51, 54 105| 28.8(76.2 147 | KA Mt 48 51 99| 20.4 |78.6
48 AR {Z 50 47 97| 22.8|74.2 98 | IR Iff— 48| 57 105| 28.8 |76.2 148 | f k &0 53| 46 99| 20.4|78.6
49 1EMH 18 48| 48 96| 21.6 |74.4 99 Al W= 52| 53 105/ 28.8 |76.2 149 | FHE X 57| 48 105| 26.4 | 78.6
50 |{FRiiE HESZ 52 50 102] 27.6 |74.4 100 | Kk —EH 40| 47 87| 10.8]76.2 150 | Sa]%F G 48| 57 105| 26.4 |78.6
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[:1ivi S2NnEL KING]| PRINCE | QUEEN GrRoss| HDCP| NET F= [T S2NEL KING]| PRINCE| QUEEN GRoss| HDCP| NET 7E [:{iv SinE4 KING | PRINCE | QUEEN GRoss| HDCP| NET {w=
151 i 65 50 49 99| 20.4[78.6 201 %) M= 57 60 117] 32.4 |84.6
152 | {k{H IR 50/ 49 99| 204 [78.6 202 53¢ £k 5% 65 121] 36.0 |85.0
153 FE F— 51| 47 98| 19.2|78.8 203 |GH Ml 60| 61 121] 36.0 |85.0
154 EH 5A 55 49 104| 25.2|78.8 204 | B HE 60| 56 116] 30.0 |86.0
155 | #3ii ¥ 53 51 104| 25.2 |78.8 205 | =4 BE 51 65 116| 30.0 |86.0
156 | i BE 56 54 110] 31.2|78.8 206 | 5gith 35th 64/ 58 122| 36.0 |86.0
157 | &L 50 48 98| 19.2/78.8 207 | FE= = 52| 54 106| 19.2 |86.8
158 {RZAH H= 60| 55 115/ 36.0 |79.0 208 |A]BF —Ep 66/ 58 124 36.0 |88.0
150 58 # 53| 56 109/ 30.0|79.0 200 | L A 61 63 124] 36.0 |88.0
160 iEifB &in 57| 52 109| 30.0 [79.0 210 )1l @I 63 61 124| 34.8 |89.2
161 7% FHZ 50| 46 96 16.879.2 211 3 SZEP 61| 63 124| 34.8 89.2
162 it BF 52/ 56 108/ 28.8 |79.2 212 |HA B— 60/ 66 126| 36.0 |90.0
163 II'F HE 50 51 101] 216 [79.4 213 &5 B— 57| 70 127] 360 |91.0|7—t—&
164 Hey REE 54| 53 107| 27.6 |79.4 214 | #5E B 62 66 128] 36.0 |192.0
165 | HFX 46 54 100| 20.4 |79.6
166 Hf) =B 48 52 100/ 20.4 |79.6
167 X 2 53| 53 106/ 26.4 |79.6
168 | ;KH F5&8 56/ 60 116| 36.0 |80.0
169 jFiR B2 51| 47 98| 18.0 |80.0
170 PR —5% 53| 50 103| 22.8 |80.2
171 R BX 49| 60 109/ 28.8 |80.2
172 | Kifk Bt 52 45 97| 16.8[80.2
173 I\ &= 47| 56 103| 22.8 |80.2
174 KL @K 49 53 102| 21.6 |80.4
175 H Lk i 57 51 108/ 27.6 |80.4
176 s&Fk B3E 52| 55 107/| 26.4 |80.6
177 |/I\#K 1IEX 57| 56 113] 32.4 |80.6
178 #%H {iI 62| 50 112] 31.2 /80.8
179 |iEHP BA— 58| 48 106/ 25.2 |80.8
180 lLUA & 55 517/ 112| 31.2/80.8
181 |lUK B 59 53 112] 31.2 /80.8
182 \§kFk FRE 57 54 111/ 30.0 |81.0
183 /NI FEngt 61 50 111] 30.0 |81.0
184 JPEF #in 54| 57 111] 30.0 |81.0
185 | HHH % 57| 53 110| 28.8 |81.2
186 BB V& d 55 54 109| 27.6 |81.4
187 |4 §& 49| 48 97| 15.6 |81.4
188 H B+ 55/ 60 115/ 33.6 |81.4
189 |7tk BA 49| 51 100/ 18.0 |82.0
190 FEH 8= 51| 48 99| 16.8 [82.2
191 kP =i 51| 48 99| 16.882.2
192 ;&EH =Bt 61| 58 119/ 36.0 |83.0
193 | EkH FEEP 58| 52 110| 26.4 |83.6
194 |HEiT 6£5) 60 55 115/ 31.2|83.8
195 HEH RiZ 64 56 120/ 36.0 | 84.0
196 ]Il £ £ 48| 53 101| 16.8|84.2
197 |BRES {8 65| 54 119/ 34.8 |84.2
198 FEIL 1—+ 64 55 119| 34.8|84.2
199 | X80 82 60 52 112| 27.6 |84.4
200 i sk 60| 58 118 33.6 |84.4 5 A




